Moto-All.ru

CIIMCOK JOETAJIEU [IJId "CRANKCASE" BRP RANGER FCE

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK JOETAJIEY [1J1d "CRANKCASE" BRP RANGER FCE

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

. CARTER MOTEUR
1 420888493 Cpok nocraBku 0T 25 AHeH *CRANKCASE-ASSY 1
2 20014 Cpok mmoctaBk# 0T 35 gHen Spring washer 14
. VIS HEX.M8X70
3 420841201 CpOK 1IOCTaBKH OT 25 [HEeH *SCREW-HEX_M8X70 6
. SCREW-HEX.CAP
4 207084544 CpOK II0CTaBKH OT 25 fHeU DIN.931 4
5 420841561 Cpok moctaBku 0T 35 gHen SCREW-ALLEN M8 X 45 2
6 420841841 CpoK ITOCTaBKM OT 25 OHeH SCREW-ALLEN M8 X 65 2
7 420940190 CpOK IIOCTaBKH OT 25 [Hel STUD-M10 X 29/20 4
8 20015 Cpok mocraBku OT 35 fHEH Spring washer 4
9 33004 Cpok mocTaBku OT 35 oHeH laiika 4
10 420840556 CpOK IIOCTaBKH OT 25 [Hel STUD M8X173,5 8
. PASSE-CABLE
11 420860962 CpOK 1IOCTaBKH OT 25 [HEeH *GROMMET-CABLE 1
12 420899784 Cpoxk noctaBku oT 19 nHel Loct 574/orange/50 1
13 420899785 Cpok noctaBku oT 19 nHei Loctite 221, violet, 10cc 1




